Potencias de 10 (G)

360,001

350,001

600,001

2-0,001

22+ 0,001

29+ 0,001

100,001

510,001

64+ 0,001

60 = 0,001

Calcule los siguientes cocientes.

520,001

330,001

20+ 0,001

98 + 0,001

190,001

40,001

390,001

98 =-0,001

790,001

240,001
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Potencias de 10 (G) Respuestas

360,001
36.000
350,001
35.000
600,001
60.000
2+0,001
2.000
220,001
22.000
290,001
29.000
100,001
10.000
510,001
51.000
64+ 0,001
64.000
600,001
60.000

Calcule los siguientes cocientes.

520,001
52.000
330,001
33.000
200,001
20.000
98 0,001
98.000
190,001
19.000
40,001
4.000
390,001
39.000
98+ 0,001
98.000
79 +0,001
79.000
24 +0,001
24.000
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